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(a)
DSents' Burget Constraint : X

,

= lo + b
, Xq + /Itrb = 4.

mcX (10 +b)(4 - (1 +r)b)
be IR

Eo
.

C : - (1 + r) (10 + b) + 4 - (i + r)b = 0

b(r)= = = 5

A stris Borrow/Land WE ounG .
Hence

,
The Young ano Ord present

* Date t Do NOT inmilde in The Credit Market
.

-
-

Market Ccasmng or t N b(r) = 0 =) b(r) = 0

i = = = H+ r = = ,

v= - 3
->

-----
But NOBODY Borrows on LEND.

CE ALocat or: (x
,, xz) = (10 ,

3)
.

-
1 it iS D LLOCATION IS NOT /TECHNICALLY) Pareto OPTIMALI

=



IfThe Young of EDI GENERATION DONATED 2 UNITS

of Consumption To THE OLD AND THESE DONATIONDRE SHARED

EQUALY BY THE OLD
,

THEN THE CONSUMPTION STEAMS ARE :

* X

Distei I 2 3 ---
t --

OLD g
*

g 8 -- j --- (Case Ne = 2 Ne-i)
YOUNG 8 z z - z

- -

( 4 + 2/2)
·
NoteThaT TheTre DRE TWICE AS MANY YOUNG INDIVIDUALS

T HAN OLD INDIVIDUALS

(d) The Consumpton Strean of Deneration to is 110
, 8) .

ALL

THE Other benations' Consumption Stran is 18
,

8)
.

-
+ S SCHEME IS NOT A MARKET OUTCOME ....

BUT IT CAN Be

TheResult of * CULTURAL TRIT
B WHICH EACH MOTHER

RECI EVE3 2 UNIT of Consumption From EACH Of HER O DAUGHTERS

W hat If the Population IS sinking T
-



(b) Money) Mean of transaction , deport of value)
Z

SrePOSE That The STOCK of MONEL IS GIVEN To THE OLD PRESENT NT

- = 1
.
Natural

,
LESE Agents WILL Use MONEY N BAY As Much

of the consumption good as its car. A Towns AGENT

STIONS SOME of Its Endowment Dr Time E N HOLD

↓ o The Money HE TECHUES to Bu) GOOD THE NEXT

-

DATE
. IMS

,

HER BUDGET CONSTRAINT 1S

P((X - E ) + p = + (y - j) = 0 Ill

Obviously
,
in EQUILIBRM PETO ,

XL
.

HENCE 12

MAY BE WEN AS

(x - 10) + (2 - 4) = 0

.. -

-

ex + y = 10 + 4 ,



An ASErt Born at t croses (X
, Xm) to socre

max Xy
s .

+
-

=x + y = 102 + 4

THE SOLUTION Solves TE Sas TEM

E = T

&
Y=(f) = 5 + 5

2X + y = 101 + 4 Yy(() = 2 + 594

HENCE
,
Market CLEARING MEQUIRES

Nt-r(2 + 59 ) + N
= (s + z) = m

,

(4) + N
= (00)

(2) Nz = 2 Ne-
,

51 + 7 = 12.

A
stationale CE (2 . E ., fe = l

,
+) satisfies

Se-12p + 4 =0 1=
35



X

For 1 = - ,
x

, (5) = 10
,

x
, (5) = 4

In This CE There iS No Those !

For f2
,

X (2) = 6
, y(2) = 12 .

L
*

= 72

Pareto Superor ! This (e**) is known as "The Golden Ruck"

(ii) Nz -, = No : Market Clarows : 2+ 2 + + 5 + 2 = 4 + 10

i
. e-, 592 - 79 + 2 = 0

:40
/

-
X(1) = y() =7 .

u
=

= 49.

(iii) Ne-
,
= 2Nz MC : 4 + 10 + s + z = 2(4) + 10

1092 - 99 + 2 = 0

:
x(2) = E , 3(7) = 9n+ = I


